
Today :

§§

1.2
: Row Reduction of Echelon Forms

Next : 1.3 : Vector Equations

Reminders :

My Math Lab Homework # 1 of # 2 : Due Men
,
Jan 22

MATLAB Homework # 1 : Due Fri Jan 19
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Eg . K - 4×3 = 8

ZX
, -3×2+2×3 = 1
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, -8×2+12×3=1
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I do!g}g :p To 1 consistent ?

Eg.

2×1 - xz = h For which h
,
K is the system consistent ?

- 6x
, +3×2 = K For which h

,
K is then auntie solution ?



Echelon Forms
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Row Echelon Form :
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Reduced Row Echelon Form :



Theorem : By performing row operations , everymatrix
can be transformed to reduced now echelon

form
.

And that form Is unique !

Eg .
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In reduced now echelon form ,
the matrix Is
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pivotal columns pivotal variables

free variables


